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QUESTION 1

Which of the following drive 5G low latency? (Choose two.)

A. Support ofup to 1 billion of IoT and sensors devices per km2
B. Lower Time Transmission Interval (TTI)

C. Higher spectral efficiency

D. Edge Clouds

Correct Answer: BC

QUESTION 2

Which of the following is a valid NFV attack?
A. Hijack attack on hypervisor

B. DDoS attack on the SDN switches

C. Poor NFV implementation

D. Hypervisor resources leakage

Correct Answer: A

Reference: https://www.etsi.org/deliver/etsi_gs/nfv-sec/001_099/001/01.01.01_60/gs_nfv- sec001v010101p.pdf

QUESTION 3

Which of the following statements about Network Slicing are correct? (Choose three.)
A. Multiple slices create multiple virtual network instances.

B. Unique Quality of Service can be allocated to a given slice.

C. Specific resources can be allocated to a given slice.

D. Network Slicing is a way to physically partitionthe common network infrastructure.

Correct Answer: ABC

QUESTION 4
What is the main benefit of Cloud RAN?

A. Increased cell coverage
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B. Better latency

C. Reduced cost by centralizing some radio functionalities
D. Increase radio throughput

Correct Answer: D

Reference: https://www.fujitsu.com/us/Images/CloudRANwp.pdf (4)

QUESTION 5

Which of the following defines a vertical Network Slice?

A. When it serves a given customer for a specific purpose, such as anational energy network.
B. When it cross all the network layers from the radio up to the core.

C. When it serves a given common purpose, for a use case with a defined QoS (eg a use case in transportation, in
energy).

D. When it operates on the same layerof the ISO/OSI model.
Correct Answer: A

Reference: https://www.gsma.com/futurenetworks/wp-content/uploads/2018/06/Network- Slicing-Use-Case-
Requirements-_-FInal-.pdf

Latest BLO0100-101-E BL0O0100-101-E VCE BL0O0100-101-E Braindumps
Dumps Dumps

Latest BLO0100-101-E Dumps | BLO0100-101-E VCE Dumps | BLO0100-101-E Braindumps 3/3


https://www.pass4itsure.com/bl00100-101-e.html
https://www.pass4itsure.com/bl00100-101-e.html
https://www.pass4itsure.com/bl00100-101-e.html
https://www.pass4itsure.com/bl00100-101-e.html
https://www.pass4itsure.com/bl00100-101-e.html
http://www.tcpdf.org
https://www.pass4itsure.com/bl00100-101-e.html
https://www.pass4itsure.com/bl00100-101-e.html
https://www.pass4itsure.com/bl00100-101-e.html

